CLASS IX POLYNOMIAL TEST PAPER-3

Multiple Choice Questions

1: Which of the following is not a polynomial?

A. 2 +2x+3 B. x> —2x+6

C. x"+3x°-3 D. 6x+4
2. The degree of the polynomial 3x® —x* +5x+3 is

A. 3 B. -4 (g + D. 1
3. Zero of the polynomial p(x) = a’x, ax 0 is

A. x=20 B. x=1 C. x=-1 D. a=40
4. Which of the following is a term of a polynomial?

A, 2x B. % €. Jx D. &
S; If p(x) = 5x> — 3x + 7. then p(1) equals

A. -10 B. o (& -9 D. 10
6. Factorisation of x° + 1 is

A (x+1) (.\'2 = x +:1) B. (x+ 1) (.1'2 + 1)

C. x+1DE+x+1 D G-1D(>=x-1)

7. Ifx+y+2=0, then x +)° + 8 equals
A (x+y+ 2)3 B. zero C. oxy D. —6xy

8. If x=21s a zero of the polynomial 2x7 + 3y — p. then the value of p is

A -4 B. 0 C. 8 D. 14
1
o X+ s
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A.  apolynomial of degree 1 B. a polynomial of degree 2
C. a polynomial of degree 3 D. not a polynomial

10. Integral zeroes of the polynomial (x + 3) (x — 7) are

A -3, -7 B. 3,7 CeF™ -3, 7 D 3, -7
11. The remainder when p(x) = 2x° — x - 6 is divided by (x — 2) 1s

A p(-2) B.  p(2) Cc. pQ) D. p(-3)
12. 2 (a°+ b) = (a + b). then

A a+b=0 By-*a = b C. 2a
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